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You have been called for the written test based on the online data furnished by you in the web application,_If you have
wrongly entered any information in the web or you do not possess the required gqualification as per our advertisement,
your candidature will be rejected.
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You should sign the hall ticket only in the presence of the Invigilator in the examination hall.
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The Question paper is in the form of Question Booklet with 80 questions and the duration of the test is 02 hours.

4. 9% & 3ecR e & T @l 9fd Ffee 3eeT INTHIR Seai-giecsh & sean|

A separate OMR answer sheet with duplicate will be provided to mark the answer options.

5. 9P 9 iU 04 3 gl 3T 9P 99 3cal ST U 3 FHIeT U |

Each question carries 04 marks and one mark will be deducted for each wrong answer.
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Question booklet series code (A/B/CIDIE) printed on the right hand top corner should be written in the OMR
answer sheet in the place provided.
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Enter your Name and Roll Number correctly in the question booklet.

INTHAIR 3 -gﬁﬂwﬁaﬁqﬁﬁaﬁmmm#ﬁaqﬁzw#ﬁﬁmmﬁm
All entries in the OMR answer sheet should be with blue/black ball point pen only.

TR fasedl wRd aRafve WER & ge g et & R ueh arfeed w9 @ Wl & |

The questions will be objective type with four options out of which only one will be unambiguously correct.

HTTRY, Sea-IfeaerT 7 T 1T e F AN, el TN & dfel IEe U § HITHAIR Ieai-
Wﬁﬁ%%ﬁ%ﬁﬂﬁmmwm%l

You have to select the right answer by marking the corresponding oval on the OMR answer sheet by blue/black ball
point pen.

T 92T & ToIT 3199 ey ITeld ATAT SIT9aTT |

Multiple answers for a question will be regarded as wrong answer.

iR TiieT TeeaTe # & 3eR HAC, FGAET, AT B AT Hed SAFEI AT Fa, TSI
T, HlE S oY A srerafay At & el

Computers, calculators, mobile phones and other electronic gadgets, text books, notes etc., will not be allowed
inside the written test hall.
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Frreren A e gl wid 3 9 W

On completion of the test, tear the OMR answer sheet along the perforation mark at the top and hand over the original
OMR answer sheet to the invigilator and retain the duplicate copy with you.
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The question booklet can be retained by the candidates. .

qEveTT & werE 62 & e Sl @ et gt sisa Y AT A&

Candidates are not permitted to leave the examination hall during the first hour of the examination.
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dHATATA ot - o3 (1295)/TECHNICIAN B —- WELDER (1295)

Frfaf@a # & 3eus I @E)Fa 82

Which one of the following is a temporary joint?
(a) hicleh TiA/Riveted joint

(b) des8 AT/ Welded joint

(c) €T Tf8/Soldered joint

(d) 9g e Aft/Press fit joint

NITERT AT e BMASe eye" is g
(a) dfesIT & R 3cafora RO & SRoT 37 # HeoT STo=/e8
An acute irritation/pain in the eyes caused due to radiations emitted during welding
(b) FAFIS & 3T ¥ 37 [Ng o T g gl 3 FF FUT § FUS Tl §
The distance from the tip of electrode to the point where the arc makes contact with the work
piece _
(c) U 3T afeser w&d 7 3TF & &g f&6g
Centre point of the arc in an arc welding process
@ s H @ A g

none of the above

3 Afese wohe & R 9PFT URT HT TR T
The type of current employed during an arc welding process is :

(a) hddl YcdIddl €RT/only alternating currents

OB EERA ¢RT/only direct currents

(c) UcITEadrT s &R/either alternating or direct current

(d) SQ"?__"EFFI' qHA ﬁé’ €i/none of the above -

YcATadl ORI & fese aRT # deos & fov Fafaf@a & @ sia-ar 3ustor s g=er
forar Jrar 2

Which of the following equipment is used to convert an alternating current to a direct current?

(a) UcaTafaF/alternator
(b) CFEBIA/transformer |
(c) TEsca/rectifier

(d) TUHICI/ammeter
3 1295/16



fefaiad & @ wla-ar ed T Y Jd G F AT THd v 75 do8 F agad

AT 82
Which of the following symbols represent a single v butt weld with a broad root face?

@ \/ ® |/
© Y @

“60-40°HT T9SH G HeaT FT Addd gl

A general purpose solder designated as ‘60-40° means :

(@) 60% feaT 3R 40%TET & T TF TlesT
a solder with 60% tin and 40% lead

(b) 40%feT 3R 60% WET & T TF HliesX
a solder with 40 % tin and 60 % lead

(c) 60% feaT 3R 40%ae & ITRT TF HiesT
a solder with 60% tin and 40% copper

(d) 40%feT AR 60% e & AT TH HlesT

a solder with 40 % tin and 60 % copper

PfafRd & ¥ T o9 Jaeur afeee we Sle-ar &
Which of the following is a solid state welding process?

(a) uYr faeNfda afegar/Friction Stir welding

(b) Teoleela feor g'a’ afegal/Electron beam welding

(c) oITRfRIoT gﬁf afesaT/Laser beam welding

@) ¢NF TET 3k afeS/Gas tungsten arc welding

des AT &1 gar oo & AT eafaf@a & & wia v aifaanh oemor 78 &

Which of the following is not a non-destructive test for detecting weld defects?

(a) URTHET YARTOT/Ultrasonic test

(b) TFAXY q{1&T0T/X -ray test

(c) TTH AeaT TLETU/Dye penetrant test
(d) =TT G&TUT/Tension test
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10.

11.

12.

AaX AfesIT 1 Gl 19 Il H g &

Laser welding finds widest application in:

(2)
(b)

()

(d

fEer arg 3R g ST g3t Hr

SR 3cd¥T/heavy industry
TITATCHS F/structural work

Wﬁ?ﬂ' 3?.}‘11?T/electronics industry
HshH 33:€|>I?T/process industry

#T 39T fde ad &1

Fluxes are used in welding in order to protect the molten metal and surfaces to be joined from:

(a) 3fTRAOT/oxidation
(b) TA®IUT FAUT 3T/ distortion and warping
(c) 3HHHATT d9 ﬁ?{TUT/unequal temperature distribution
(d) Hel/dirt
3T AfesT & FI=a &I HE.’S-‘I' a %’/Weaving in an arc Weldiqg refers to :
(2) dAfeSer fr Rem # oo W AT FT ared F gred Fr 3R AT
side to side motion of the electrode at right angles to the direction of welding
(b) afeser Fr Rer F I Fr urd T ured Fr IR T
side to side motion of electrode along the direction of welding
(c) dfesT & R geFeIs o Yeod IS =Tel
spiral motion given to the electrode during welding
(d) 3T A HTEAT FLA HT Th el
a technique of striking the arc
o8 gt §/Weld spatter is :
(a) U afesar iﬁ/a welding defect
(b) UESAFAE fAYsi/an electrode coating | ’
(c) U dAfesaraseile/a welding technique
(d) TS YHR FT 3iAGE/a type of flux

¥ su= & fav afeser 7 ffari
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13,

14.

13,

16.

RS, HETaT H & HROT BT des T

Undercuts are weld defects in weldments caused due to :

(@)
(b)
©
(d)

A= afegar arT/low welding current
3T afeser eRT/excessive welding current

el El%"/unclean surfaces
3@ afeser a1fd/too high welding speed

gder uftiesit & Aiss & v Feafaf@a & sia-ar g 37 gl

Which of the following process will be preferred for joining thin foils?

(2)
(b)
(©)
(d)

T afes91/Gas welding

T AT 3T AfesdT/Plasma arc welding
TH3MSST AfeS9/MIG welding

AT AfeZ9/Thermit welding

v T yEH & 3O & w7 Pfaf@a F afraer gew dRE @ e
STaT 87

Which of the following is often used as flux in a brazing process?

(a)
(b)
(©)
(d)

IAATT FARISS/Ammonium chloride

gETJ'IT/Borax
CIE ?{I%l'llron dust

IR/ Turpentine

tmmmmﬁwmmymmm

ST B

A collimated light beam is used to produce heat in case of :

(a)

®)

©
(d)

TENa afegaT/Percussion welding
CATSHAT afesd/Plasma welding
JTT afeSa/LASER welding
&3mgsh afesan/TIG welding
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18.

19.

20.

21,

(@) dIdl/Ductility

ilTFj;HW FT Telcd —— §/The density of slag is :
(@) ¥rfaa arg & &A/less than that of molten metal

(b) arfaa BIG| ¥ SI1ET/more than that of molten metal
() dfaa BRI & SRTeR/equal to that of molten metal

(d) SQ?ETH H A FIS FAgi/none of the above

IRIANTSS dAT agal el § el argsit & afeser & fov Pwfafea & 4
Pl-AT ATSST TFF F 39T Frar Frar T2 |

Which of the following welding process is used for welding of sheet metals in automobile and air
craft industries?

(@) 9RRETT &1 3% AfeSa/Shield metal are welding
(b) I eeweaT 3% ATeE/Gas tungsten arc welding
() :WfAT afesa/Thermit welding

(d) wfarer afesa/Resistance welding

gfarer afEer & 3cuesT F5AT (H) &Y ZanT siffiemaa R S #
The heat generated (H) in resistance welding is expressed by :

(@ IRt (b) IR%
(¢) IRt (d) 2IRT

T desX I[OTdT TRIEToT & A9 & T gl

A welder qualification test is to verify :

(@) desX dr TAYOUTAT/Skill of the welder

(b) Herdf & I0TAT/The quality of the materials

(c) Hfaarelt gdreTor UfshaT/The non-destructive test procedures
(d) fafas T a8/ The manufacturing method

g doer afieqor HT IaT 9= & faT fFar srar B

Guided bend test is used to determine :

(b) wTUE Hed/Impact value
(¢) del gfdael/Tensile strength
(d) drdfetor fr gfaerd/Percentage of elongation

7 1295/16



22,

23

24.

2

26.

é%ﬂ@#aﬁﬁsﬂﬁgmmnﬁaam%&%ﬁﬁammmw%?

What is the effect if the tungsten electrode tip melts and deposits in the weld metal?
(a) FHIAR Ae=A/Poor penetration

(b) &SIR/Crack

(c) doz 9Td A HGYUT/Contamination in weld metal

- (d) HoIgd # HHLack of fusion

[¥g afesar wshm &, Sl For @1 AR, —— & Preifya Rear s B
In spot welding process, the size of nugget is controlled by :

(a) " HI/Time

(b) YRT/Current

(c) @Ig/Pressure

(d) FolFgIs TUF &F/Electrode contact area

HIF el T qEAT F [ 3R do3 feAr Sr ¥ Ay T derea g

The probable defect if cast iron is welded without preheating is :

(a) HWFIT/Porosity (b) dra-f3E/Blow hole
(c) 3TURES/Under cut (d) &IR/Crack

7S TS & A I TURT e F7 327 gl

The purpose of setting root gap in a butt weld joint is :

(@ fOw9or A FERT &= & fIW/To control distortion

(b) HelmsT # AT TGS e el & foIT/To obtain required depth of fusion
(¢) WEUT FATT W@ &F fT/To maintain the alignment

(d 3R 38w RIGH fAafa #u & %U/To deposit more metal

m%mwwwmﬁa;ﬁmﬁmﬁ@aﬁ#m-mmﬁqﬂm
R I IR FE S FFHar?

-

Which of the following nen-destructive test methods cannot be employed to detect defects inside

the weldment?

(a) YRIHET YAETUT/Ultrasonic test (b) ToF AT gfeyor /Dye Penetrant test
(c) TFH-Y ':l'ff&WT/X-ray test (d JmAT Y EI'?[&TUT/Gémma ray test
8 1295/16




27,

28.

29,

30.

3l

39T 99 AT ggiee soegisl A aifsia fRar arar & arfe
Low hydrogen electrodes are baked prior to use in order that :

(a) 3fa YSear UTcT gl/proper strength is obtained

(b) 3TH YHT ¥ AfegeT Tadd gl/welding is free from arc blow
(c) AT 3¢IEUT ¥ AfeseT Fada gl/welding is free from moisture pick up
(d) 3maf&eT arr cgeldH gl/current required is minimum

e ARET & T silorel T W A § @ Y ged W AR R e
g7

Which one of the following factors is taken into account while selecting a nozzle for gas welding?
(a) 3fAAIE ITeTATH/Flux melting point

(b) FHertrrd ITeTeTTeh/base metal melting point

(c) I YId ITeleireh/filler metal melting point

(d) SATET &7 arT U FAT/temperature of flame to be set

vt & TaE A E:'/Acetylene is a chemical compound of :
(a) SIS FAUT 3TFHSTA/Carbon and oxygen

(b) @ISl AT ATSeIoleA/Carbon and nitrogen

(c) T 2T §1831a7s1/Carbon and hydrogen

(d) FEA TAT HTCHIA/Carbon and calcium

ol qur SR gt afeser M # fafaa & wla-ar sddecis &1 e R o
el &2

Which of the following electrodes can be used on both AC and DC welding machines?

(a) SIS ST carbon electrode

(b) VAAATA geagis/aluminium electrode

(c) UTd FAFEIS/metal electrode

@ #g FEId ﬁaﬁa ZolFeIS/mild steel coated electrode

afessr & ugel de @ qaafd fRar Sar € |
Preheating of copper is done before welding because :

(a) arf 3FTFRARROT ST AHT ST Teb/to prevent oxidation

(b) ITHI ITa AT ATAHAT F HROT/of its high thermal conductivity
(c) dfr AfesHT Fr A AT AT TH/it makes welding easier
(d) aiferEFaes @I AT AT ST Feh/it helps to control shrinkage

9 1295/16



32. m%ﬁﬁﬁéﬁmﬁﬁﬁvmm%éﬁ%ﬂm gl

33;

34.

35.

36.

The welding process widely employed to weld railway rails is :

(2) AT e/ Thermit welding (b) 3TETT afesaT/Percussion welding
(c) WRmeT afesa/Ultrasonic welding (d TaFwes afesar/Explosive welding

m@@ﬁméﬁéﬂﬁﬂqﬁﬁméﬁéﬂ%m%mﬁa@ga:mw
MR —— B

In gas tungsten arc welding, the shape of the tip of tungsten electrode used for welding of
aluminium is:

(@) =it fAW/Point end (b) U fA/Flat end
(c) =IvfRr fAT/Angular end (d) eI fART/Spherical end

THUATSsY H A @ als 3R = 3R 31 gl 3ee
In SMAW, bead width and height will be more if :

(2) dfesT aRT F1 HA T SlTU/welding current is decreased

(b) SOIFEIS FIUT FT FA FFAT AMWelectrode angle is decreased
(c) dfesar aify #1 & fvar SiTU/welding speed is decreased

(d) 3T SETS I HHF HAT MWarc length is decreased

fF=faf@d 7 & Fia @1 FdaT seug ged 3w Jeaia &
Which of the following carbon steels is most weldable?

(2 0.15 %I STATA/Carbon steel

()  0.30 % & ST/ Carbon steel

(©)  0.50 % FHTeeT STATA/Carbon steel

(d) 0.75 % STl STUTA/Carbon steel

Fsl gauTar afes3T T Tesy & B/Straight polarity welding refers to :

(2) geiers IRuURh # AART & Sher T 3R oS fr 3k wEeRET &
Electrode holder is connected to negative and work to the positive

(b) GREmET i gifafea & e T § 3R ARG o IR T F@r
Holder connected to positive and work to negative .

(c) 9RurE difafed § 3R FF Ft s@ulha frar am=r &
Holder is positive and work is earthed

(d) a:rﬁq‘f%ri%a?aﬂwqﬁuﬁﬁqu%a%w%

Work is positive and holder is earthed

10 1295/16
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38.

39.

40.

41.

diad, afaf@a @ 3 afesa &/Brass is gas welded using :
(a) 3ITFHIEROT SaTaT/Oxidising flame

(b) EFIéIUT FdTell/Carburising flame

() 3crdlsT FaTdl/Neutral flame

(d) g dfessT g F deg A&T TFAT ST Fehar

Cannot be welded by gas welding process

Alestavshd & v aa uwwy &/The temperature range for soldering process
s

(a) 40 F/to 100°C (b) 180 Alto 250°C

(c) 300 H/to 500°C (d) 600 T/to 900°C

farfaf@a & o Fg yares #1 Qe O =1 Jar &2

Which of the following operations is known as ‘sweating’?

(2) 3THATE TUT YT F ST TAGTH AT T3 B Fels HAT
Tinning of two surfaces to be joined, applying flux and heating.

(b) TS AT a7 3T I 3fPare H 3URAURT F 357 AT aF aRa FEAT
Heating of two surfaces to be joined, to high temperature in presence of flux.

(c) Sl S=are ar gsat &t e a9 & afa #er
Heating of two surfaces at low temperatures.

(d) @ gsat & ’fHaE & g F o= SEar

Joining of two surfaces without the use of flux.

s Afegr 4, ¥ T St e B
In arc welding, penetration is minimum for :

(a) 3IE-Zeiagis ifaifieda/DC- Electrode Positive

(b) BA-3elacis ANTET/DC- Electrode Negative

() THVAC

(d) Eq'{fln'q'?l' H ¥ $IS Agi/none of the above

gages faaga &1 U Bele gl
One of the functions of the electrode coating is : .
(2) desd YRT H FG=/To increase the welding current
(b) 37 &Y TURAIFA FAT/To stabilize the arc
(c) ST & AhaAl/To prevent rusting
(d) 3T T9AA F FATFT FIVTo control arc temperature
11 1295/16



42.

43,

44,

45.

46.

SfeRYer deset 3 o seaEIE W — ¥ e R sar )

In resistance welding, two electrodes are made of :

(a) W/Aluminium (b) FffaT/Copper
(c) @8lIron (d) TEA/Bronze
TFE-vAfedT degd & SaTeT FT A : gl
In oxy-acetylene welding the flame temperature is :

(a) 1600-1700°C ' (b) 2000-2100°C
(c) 2500-2600°C (d) 3200-3300°C

gl AIC Tolel Hl T Tahd 9T & s & v -1 desa ufdar & g ar amar

&7

Which welding process is used to join two thick plates in one single pass?
(2) JHTFH-UARAT Ae8+/Oxy-acetylene welding

(b) T TIECT 3T FeB+/Gas tungsten arc welding

() 7 ETIT;T 3T Ae5/Gas metal arc welding

(d) SAFCITAT dese/Electro slag welding

mmwmmmm@aﬁma@ma@ﬁmﬁ@ammm

IUAET AT STar

The following welding process is used to weld fastener to plates without drilling or punching holes?

(2) TAFCr TeldT desa1/Electro slag welding

(b) ITFA-UAREAT de3/0Oxy-acetylene welding
(c) ¥ desdA/Butt welding

(d) ¥C3 des+1/Stud welding

T%h dost & o0 T TIcAs a8 ¥ FATT AT

Acceptable protective clothing for a welder is made from :

(@) 3IWF 9 T TWNT (3g1. A, TifeEe) e
Heavyweight and synthetic (e.g., nylon, polyestér) material
() A AN T AR (38T, AFAlA, gifaEex) gere
Lightweight and synthetic (e.g., nylon, polyester) material
) IfOF &l 7 upfas (3a1. 3+, FurE) gerd
Heavyweight and natural (e.g., wool, cotton) material
(d) FH AR g YHfds (38T, Fed, FIH) Terdy
Lightweight and natural (e.g., wool, cotton) material
12




47.

48.

49.

50.

JR @I dosa & fAvy & Aeafaf@a # & wla-ar @ér a8 22

Which of the following is not true with respect to a LASER beam welding?

() wFar & fow @afa we1 nfea A8 &
Process does not require a vacuum chamber

(b) 3cafs A gRTSel &1 doss fhdT ST Tohdl &l
Highly thick sections can be welded

(c) JdesT & SRIA FIS FiaPRP TFHIRHA IcUeaT 76l &lall
No harmful x-rays are produced during welding

(d) SEFTRIF I8l T SUUIT T 3T FTh T SIAT FT BlFTeT HAT AT el &

Laser beams can be focused using optical lenses and mirrors

fefaf@a & @ - dosa wishar a9 & T A qUT o5 A Fie & AU 3=9
smafea earfeie &ual T 3udlET & §?

Which of the following welding process utilizes high frequency acoustic vibrations to generate heat
and create a weld?

(@) YR degd/Ultrasonic welding
(b) TETA desal/Percussion welding
(c) ¥TS desel/Stud welding ‘
(d) ¢aTfeeh deseT/Acoustic welding

Prfarad dose uRFaat 3 & Fa-ah coiRest ¥ dosat & R s € B
Which of the following welding process is not generally employed for welding of plastics?

(a) YT desa/Ultrasonic welding

(b) 3T desa/Gas welding

(c) E3EST de8/TIG welding

(d) =Y de5+I/Friction welding

U I 3 Ao ulhar # 3k Hr s zarT f@afla gl
The arc length in a submerged arc welding process is controlled by :

(a) gesa 91T/ Welding speed

(b) dea dlecdl/Welding voltage

(©) dosa URT/Welding current

(d) 3Fers aRRATAR/Electrode wire extension

»

13 1295/16



3.

52.

53.

54.

ZART AlC SR IRTBEl & HRT & &g dR AN & a1 afesa
fRar ST Tehar £l

The edges of thick cylindrical sections can be welded without any edge preparation by:

(a) gyur fgenf3a afegar/Friction Stir welding
(b) el d1F Jesd/Electron beam welding
(c) Folagr T desa/Electro slag welding
(d) TdrsHAT des+1/Plasma welding

frdt Tas gt s & QIR & ATAJ Hd §7 38 QIR & fawaR #
garT fFafa far S @@ gl

While repair welding a crack in a cast iron body, the extension of crack can be controlled by :
(@) EIR & &=l AY 9 2W0T/Tacking at both ends of the crack

(b) q':ciﬂ'rqa‘-l'/Preheating

(c) I &Hr WrdT @e1/Grooving the crack

(d) TR & g Y W 3¢/Drilling at both ends of the crabk

farafaf@a At & F Fadr 3ufeufa desdic & afaeRs woa sear § 9ad desdc

H @R 95 AT 87

The presence of which of the following gases has the harmful effect of leading to cracking of a
weldment?

(a) W/Oxygen (b) gISsrsl=/Hydrogen
(¢) ATSEISTA/Nitrogen (d) 3iET=/Argon
AT Y ———— T HiAed §9 gl

The word ‘LASER’ is an acronym for:

(a) g Uitafraee a3 Feraes wfare 3w Were=
Light Amplification by Stimulated Emission of Radiation

(b) s Jeeeee a3 [Eerdes TiaReT 3w T
Light Augmentation by Stimulated Emission of Radiation

(©) TISE URafhheT 91 TEees Uihee 3w e
Light Amplification by Sustained Emission of Radiation

(d) TISE AT a8 TIS—3 TR 36 IfSuers

Light Augmentation by Sustained Emission of Radiation

14 1295/16



55. farafof@a Rufaat & @ sl 56 fufa 7 argq desa & ghaa Hdr &2

Which of the following position indicates pipe welding in 5G position?

(b)

(©

(d)

(a) (b) (c) (d)
urgy Fearer Rufa 7 3R desa & way 7 gftta ar afeaa

Pipe in vertical position and not rotated or rolled while welding
arsy dfas Rufd # 3R desa & wAg 7 giia ar dfcad
Pipe in horizontal position and not rotated or rolled while welding
qrey difersr Reufr 3 3l g, Faer ¢ deg o

Pipe in horizontal position and rotated, weld deposited only at top

arey 3eTd fRufd 7 3R desa & @Aw gftta

Pipe in inclined position and rotated while welding

56. I O IF Ao H FlA-Q UT TUEIROT ¥ H=dd ORT T 87

In Gas metal arc welding, the metal transfer requiring lowest current is :

(a) TNATHR TUTATGROT/Globular transfer
(b) <Y qROUeT TUTATAROT/Short circuiting transfer
() PEX FATATAROT/Spray transfer
(@) wTRa DER FATATAROT/Pulsed spray transfer
57. HIA 3% Aoz H WPFT HRaE 7 F F
Flux used in submerged arc welding is in the form of :
(a) @d/liquid
(b) TOThI/granular h
(c) B &3/solid rod

(d)

3 &ga/solid tube

15
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58.

a9,

60.

61.

& T F& desl & 92T ardel fRar sirar ¥

The purpose of post heating of certain welds is to :

(a) FORAT G Hﬂ?ﬂT %H Fel/Reduce hardness and brittleness
(b) FHORAT T 34'{_!3?” d¢lal/Increase hardness and brittleness

(c) WE&TAT FA F/Reduce the toughness

(d) <MTeTeT & HI de=/Increase the cooling rate

frelr &ifdsr @@ # MefoR dRET & desa & Qv wgea i desa & TS
gl |

For welding overhead joints in a horizontal plane, the technique of gas welding used is :

(a) lil"?‘fi't‘i"_e,'fForehand

(b) &% §3/Back hand

(c) ¥¢3T 83/Straight hand

(d) 3SsFeis g3/Inclined hand

e gur Aftd R & 3uder g g desa F N F e

In gas welding using oxygen and acetylene cylinders, the pressure of gas is more in :
(a) IS RS 31M0F §loxygen cylinder

(b) Tafeea fRAfeisd 3w ©/acetylene cylinder

(c) arr fAfeET & d#eT &/equal in both cylinders

(d) dafesa RrT S=arer 9erd o nfAa /depends on material to be welded

uﬁwaﬁaﬁmmgaxmm#mvm?ﬁ§a1mm$wﬁw

In resistance welding, when the current passes through the metal, the greatest resistance is :

(a) Wdg U BIAT g/at the surface
(b) afesa frr F=aE Eﬂ@'S-ﬁ & FAETA H @ B/through the metals to be welded
(c) dfesd &1 Siearell 4Ry T Fus fig W ¥
at the point of contact of the metal to be welded
@ T Rig R & o g g & Wk e ¥

at the point where electrode contacts the metal

*
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62.

63.

64.

65.

66.

et vardf 7 @ fraer fag-afeser e wfoa &
Which of the following material is difficult to be spot welded?
(a) 3acd sfeed TATHE MT/Cold rolled MS sheet

(b) dca dfead AT Me/Hot rolled MS sheet

(c) SHERIEN efie/Stainless sheet

(d) FI']’@IT/Copper

ZoFeld dIF dosa & g faala & HA W g
During electron beam welding, vacuum is of the order of :
(@ 107 torr (b) 10 torr () 102 torr (d) 107 torr

ffaf@a ufoiy desat & 3 frud o) gear & o3t &1 tary AT 31 Ghar 2

In which of the following resistance welding, a large number of welds can be carried out
simultaneously:

(a) ﬁ?‘," afesar/Spot welding

(b) Y&YUT desA/Projection welding
(c) TEAX des+1/Seam welding

(d) HTETd desd/Percussion welding

SNéTseey & folv FRA <l &Aool feear ¥ TR ST ¥
The nozzle portion of't_he torch employed for GTAW is made of :

(a) cofEca/plastic () AR ceramics

(c) dTel/copper : (d) Td/glass

IH F AT F YW T Io & FRUT AeATaf@a desd ufpar i Rarcas Rar
319 gl ;

The following welding process has greater directional stability due to passage of arc through copper
orifice :

(a) 3IFE-vafea de3d/Oxy-acetylene welding t
(b) 3T YT HTF A63+/Gas metal arc welding
(c) T TR HF dos/Gas tungsten arc welding
(d) TATSHT 3T des/Plasma arc welding
17 1295/16
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68.

69.

70.

7.

Udh SlFcial Sl Hl dosd & kIl ATFd AT TaTs7aT & % 9 gl

Approximate power density during an electron beam welding is of the order of:
(a) 10°@/to 10° W/em? dF

(b) 10*A/to 10° W/em?* THh

(c) 10" 3to 10® W/em? &

(@ 10 W/em? & 318/ More than 10'° W/em?

U HIERUT Salell SaRT AYfed fRar aram &ea des &l AT B
Carbon supplied by a carburising flame makes the weld:

(a) dHS/Tough (b) deF/Ductile

(c) 93 /Soft (d) R T HIR/Hard and Brittle

&ifdsr, Feater qur fuR f&ufa & desa ARwa ¢ wifs afoa o v & fawg
S foRar srar &1 AnfaR Rufa & sifed arg & @ @ s1v t@a J aig F1 Fia-
ar silfae JuTHH Heg FRdT §?

Welding in horizontal, vertical and overhead position is difficult because the molten metal is -
deposited against gravity. Which physical property of metal helps in retaining the molten metal on
the joint in overhead position?

(@ FSHT ?i?;_tlﬂ'/Thermal contraction (b) fl;sﬁﬁ?’-'l' HTSHYOT/Magnetic attraction
(c) ¥Hdg d«rd/Surface tension (d) HYdl/Density

frafaf@d & ¥ #l9-8 aca #1 sTard A deslTaT W gt udada Foma §?
Which one of the following elements has the highest metallurgical influence on the weldability of
steel?

(a) IEaT/Carbon (b) FIRIH/Chromium
(c) HI=ATS/Manganese _ (d) fafa/Silicon

U Seruseey ufhar F 39 ¥ FFY 9N F goacls HRRG T8 87
Which of the following types of electrodes is not employed in a GTAW process?

(@ U< CITECT Felareis/Pure tungsten electrode

(b) 1-2%ANIA HFAES & WY TIEE/Tungsten with 1 - 2 % thorium oxide
(c) 0.3-0.5 % SToh(f=IT# & AT EIECA/Tungsten with 0.3-0.5 % zirconium

(d) 1-2%HIATRATH & Y TIFeaA/Tungsten with 1 - 2 % Magnesium

18 1295/16
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73.

74.

e CATeAT faEr ——— Bl

The plasma mode produced while employing a high welding current of over 100 A in a plasma arc
welding process 18 :

(a) ATSshI TelleAT/Micro plasma
(b) FI-gTed TalleAT/Keyhole plasma
(c) AT TeAToAT/Mega plasma

(d) afaa cellgAT/Tonised plasma

AE IPR SaEeIs & IUINT H AT A ———— gl
The main advantage of using iron powder electrode is :

(@ U oW IR A ALl &=l
avoids crack in the joint

(b) e e & ad H To "
increases the strength of flux coating

(©) aﬁﬁwmﬁéﬁvaﬁfﬁﬁmmm
reduces time required to complete the weld

(d) 3@2@3’%:%@@%3?%@%&?1

easily conducts electricity through electrode

ﬁﬁamwmﬁﬁwﬁﬁmﬁr@aﬁﬁﬂnmwwaﬁ%?

Which of the following statements is not true with respect to an Electron beam welding process?

(2) %mﬁﬁvﬁaﬁaaﬁaﬁmmﬁ%l
The process essentially requires a vacuum.

(b) gaqﬁma?ﬁqugaamaﬁamﬁz nfaa gl
The process essentially requires a filler wire.

(©) %mﬁmmmﬁﬁmm@ﬁﬁwmmw%l
Highly reactive metals can be welded using the process.

(d) mmwmﬁﬁwﬁmmﬁmm?i

The cost of EBW equipment is comparatively higher with respect to other arc welding
processes.
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76.

T

78.

79,

80.

1+;1—1—$ra{c7£r/’rhevalueof Il e
el

V12 +V27 & qeg &1/The value of V12 +V27 is

(@) 1492 b 7

() 5V3 (d 3

148 T 20 FT 3TATH WG IOH-TS gl

Highest Common factor of 148 and 20 is

(@ 8 (®) 6

() 4 @ 2

0.49 &r gar _qel : &1/The square root of 0.49 is?

(a) 0.07 (b 0.70

(c) 7.00 (d 0.007
WA={1,3,57},§/B= (2,4, 8}, & T g & glithen A U Bis
(@ {0} ® {3

) {1,2,3,4,5,6,7,8} (A" 41,2, 3,4.5 7.8

T AT 3R 8 & 37 Fr Q97 41 %raﬁ#r’wma%a:méﬁeﬁ?rapﬁsaﬁa:%
ar AT #T F4r 37 &

Sum of ages of a mother and son is 41. If mother’s age is 5 more than three times son’s age, what is
mother’s age?

(@ 9 aY/years ' | (b) 32 a¥/years
(c) 41 a‘ﬁ‘/years (d 30 a"ﬁ'/years

1

34> 3+—§-
16 15
(@) & B
14 15 .,
) = ) v
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